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Recall Hraat we have o c\?ch‘omav\ﬂ' betweew livieey trancfovi etions
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Note Hhet T*
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< X,T (Cl‘ﬂv1-62‘ﬂz)> = < .TX, C.‘ﬂ."‘Ca‘ﬂl>

= C'< \X‘4.>+Cz Ix, 4>
= 4 - X
= <X, T+ C <X, TYy

= <%, GTy+ca Ty >

Swee +he cbove e,czuah‘l'j hods fov all xe V, we heve

o
m——

\ T (CiY 4 C2Yy)

Se——

. . R
=G Y, *+ Ca | Yo e, T e ll'Mav(

— _®
Pov +he umat‘up,wur of

Te———

defned by o,

Suppose there v cwmothon, U P V= V hiweer st

< Tx ™ >
Tharefore, togerher watl %k

=<x, U4 > Rvay xyeV

_¥ -
<%, [y>= <|¥,‘3>=<\<,b(*j7 v all %,y eV

Fov each fixed Y eV,

-chJ

<x®>—<x®> o all xe V

= T'j = Uy .
But eV “avbi*tranj N
Heee, T'= 1.

, thorefne Ty= Uy Fov gll ye V.
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Remcvk: For an nfivite diwm emsvonel (Vv <o), Hhae anoM‘f‘ T*

of o linear oPua'h:v T+ V=>V IS onre mep st

(#) | <Tx Yy > =<x 'T3> v all X4 G\/7
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\ [/
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